CLASS: VIII
DAILY ASSIGNMENT-22
DATE: 14. 05. 2020 (Week-4)
SUBJECT: ENGLISH
Multiple Choice questions

TOPIC: POETRY COMPREHENSION
Read the following poem carefully and answer the below questions by choosing the
correct option:

SYMPATHY

I lay in sorrow, in deep distress;
My grief a proud man heard,;
His looks were cold, he gave me gold,
But not a kindly word

My sorrow passed — | paid him back
The gold he gave to me;
Then stood erect and spoke my thanks
And blessed his charity.

I lay in want, and grief and pain;
A poor man passed my way,
He bound my head, he gave me bread,
He watched me night and day.

How shall I pay him back again
For all he did to me?
Oh, gold is great, but greater far
Is heavenly sympathy.
1. How did the proud man help the poet when he was "in deep distress’?
(a) He gave him jewels
(b) He took him home
(c) He gave some money
(d) He pitied the poet

2. What was it he did not give the poet?

(a) money
(b) gold

(c) food

(d) sympathy

3. How did the poor man take care of the poet ?

(a) The poor man gave him some money and food

(b) The poor man gave gold and kind words

(c) The poor man gave food to the poet and took care of him day and night
(d) He took the poet home and bound his head which was hurt



4. Which of the following statements is not true?

() The poet repaid his debt to the proud man by thanking him
(b) The poor man blessed the charity of the poet

(c) When the poet was in sorrow he was given money

(d) The poet says he cannot repay the poor man for his sympathy

5. Which word in the poem means giving money to a person who is in need™ ?

(a) charity
(b) sympathy
(c) kindness
(d) distress

SUBJECT: COMPUTER
Multiple choice questions:

1. Every computer in the network has one
a) Network interface card

b) Network interchange card

c) National interchange card

d) Network interchanges connection

2. The type of security in which only those people who have a username and a password can
access the data is known as:

a) Access security

b) Rights security

c) Data Security

d) Login Security

3. Which of the following is a device that joins the digital to analogue telephone line?
a) Modem

b) Connector

c) Hub

d) Switch

4. Optical Fibers is which type of communication media?
a) Wired media

b) Unguided media

¢) Wireless media

d) Both ‘a’ and ‘b’
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5. Identify the topology
a) Star topology

b) Ring topology

¢) Hybrid topology

d) Bus topology



SUBJECT: MATHS

Multiple choice questions:

1.

Which of the following are the factors of a® + ab + bc + ca
. (b+c)(c+a)

. (@+b)(@a+c)

a(@+b+c)

. (@+b)(b+c)

o))
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Which of the following is the factorization a® — a?
a. ala—a?)

b. ali+a)(l1—a)

c. ala®—a)

d. ala?-1)

Which of the following is equal to a® — 225a
a(a—15) (a+15)

a(a—15a) (a + 15a)

a(l-15a) (1-15a)

. a(l+15a)(1+15a)

o

oo

Find (2a + 3b)?

a. (2a+3b)(2a —3b)
b. 40 +9b%+ 12ab
C. 2a?+3b%+ 12ab
d. 4a®+9b%— 2ab

If 6X425 is a multiple of 11 and X is digit, then find the value of X.
a. 2

b. 4
c. 3
d 1

SUBJECT: PHYSICS

Multiple choice questions:

1. Select the situations where we push things to change the state.
a. moving a heavy log by an elephant
b. moving a table from one room to another
c. moving a motorcycle with empty petrol tank
d. both b and c are correct



2. A porter ties a cloth around his head while carrying the load. The intension of this
action would be
a. toincrease the supporting area
b. to decrease the supporting area
c. toreduce the pressure
d. both b and c are correct

3. Force may change the direction of moving objects. Which of the following is an
example of this statement?
a. catching a cricket ball
b. kicking a football
c. hitting with hammer on an aluminium vessel
d. bouncing of a ball after hitting on a wall

4. When a body is stationary
a. there is no force acting on it
b. the force acting on it not in contact with it
c. the combination of forces acting on it balances each other
d. the body is in vacuum

5. The strength of a force is usually expressed
a. by its magnitude
b. by its pressure
c. by its motion
d. by itsdirection

SUBJECT: CHEMISTRY

Multiple choice questions:

1. Which of the following statements is incorrect?
A) Gold and silver are the most malleable and ductile metals
B) All metals are hard and strong
C) Mercury and gallium are metals which exist in liquid state at room temperature
D) Most of the metals have high specific gravities.

2. Materials X and Y in the figure are

glowing

Light bulb Light bulb

Switch

N Battery )

A) X —aluminium, Y — pencil lead

B) X —Pencil lead, Y- copper block
C) X -—pencil lead, Y —wooden block
D) X - copper block, Y — pencil lead



3. Which of the following can show property of malleability
A) Coal piece
B) Chalk
C) Pencil lead
D) Iron

4. _ isapoor conductor of electricity
A) Copper strip
B) Aluminium nail
C) Tooth pick
D) Pencil lead

5. Sulphur element is said to be
A) Ductile
B) Hard
C) Malleable
D) Brittle

SUBJECT: BIOLOGY
Multiple choice questions:

1. Amoeba ,paramecium, Ent amoeba, and plasmodium are examples of:
(@) Virus

(b) Algae

(c) Fungi

(d) Protozoa

2. Which microorganisms are used in jute industry for separating jute fibre from the
stem?

(a) Bacteria

(b) Fungi

(c) Protozoa

(d) Virus

3. What is biological nitrogen fixers?
(a) Blue green algae

(b) Lactobacillus

(c) Spirogyra

(d) Aspergillus

4. Yeast is an important source of:
(@) Vitamin A
(b) Vitamin B
(c) Vitamin C
(d) Vitamin D



5. Which microorganisms decompose municipal sewage into useful substances?
(@) Algae

(b) Fungi

(c) Bacteria

(d) virus

SUBJECT- HISTORY
Multiple choice questions:

1. Growing indigo exhausted the .

a. Soil

b. Harvest
c. Ryots
d. Planter

2. Land producing indigo under Nij cultivation remained
a. Lessthan 35%
b. Less than 20%
c. Lessthan 25%
d. More than 35%

3. Britain’s cotton production rose dramatically due to
a. Peasants revolts
b. Indigo Import
c. Industrial Revolution
d. All of the above

4. 95% of the indigo imported into Britain came from
a. Bihar
b. Orissa
c. Bombay
d. Bengal

5. Under settlement the village headman had the responsibility of collecting
the revenue.
a. Zamindari
b. Ryotwari
c. Mahalwari
d. Munroe System
SUBJECT: GEOGRAPHY
Multiple choice questions:
1. --—--- Is a process in which heavy rain wash the fertile part of the soil
A.cultivating
B.mulching
C.leaching

D.conservation



2. The major factor(s )of soil formation is (are)
A.the nature of the parent rock
B. climatic factors
C.time
D.all of the above
3.A way to keep soil fertile by protecting it from erosion is called
A.soil fertility
B.soil structure
C. soil texture
D.soil conservation
4.Flora ,fauna and micro-organisms affect the rate of _ formation
A.soil
B.rock
C.humus
D.land
5.1t is caused when torrential rainfall scrubs and washes away the soil
A.splash erosion
B.gully erosion
C.sheet erosion
D.wind erosion
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